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Part | Structure and Vocabulary

Section A

Directions:

Beneath each of the following sentences, there are four choices marked
[A], [B], [C] and [D]. Choose the one that best completes the sentence .
Mark your answer on the ANSWER SHEET by blackening the corresponding
letter in the brackets. (5 points)

Example:

I have been to the Great Wall three times 1979.
[A)from [ B]after {Clfor [ D]since
The sentence read, “I have been to the Great Wall three times since 1979”.
Therefore, you should choose [D].

Sample Answer
(AllB][Cl[@]
1. Scarcely enemy planes were left undamaged after the guerrilla’s at-
tack. b
[A] some [B] other [C] any [D] all

2. The second-hand car Patrick bought was almost new; , it was in ex-

cellent condition.
" [A) however [B] nevertheless [C] besides [D] although

3. The grey building is where the workers live, and the white one is where the

1



spare parts

[A] are producing [B] are produced

[C] produced [D] being produced
4. Situated at an altitude of 7, 600 feet

north of the equator, Kagnew Station occupies a unique position in the com-

sea level and only 15 degrees

munications world.
[A] above [B] over {C] on [D] at

5. The government introduced a wage freeze inflation might be brought

under control.

[A] so that [B] while [C] although [D] because

6. Duke Ellington was a composer, conductor, and pianist ranked as one

of the greatest of all jazz figures.

[A] him [B] whom [C] whose [D] who
7. these questions may sound scademic, answers to them could have pro-

found economic and political significance.

[A] Since [B] While [C] Unless [D] Lest

8. These national parks are very important for preserving many animals, who

would run the risk of becoming extinct.
[A] instead [B] nevertheless
[C] therefore [D] otherwise
9. in history when remarkable progress was made within a relatively
short span of time.
[A] periods [B] Throughout periods
[C] There have been periods [D] Periods have been
10. The position of the larynx, or voicebox, in the neck determines _____ ,

swallows, and vocalizes.
[A] an animal, how does one breathe
[B] how an animal breathe
[C] an animal breathes, how are
[D] how does an animal breathe
2



Section B

Directions:

Each of the following sentences has four underlined parts marked [A],
[Bl, [C]) and [ D]. Identify the part of the sentence that is incorrect and
mark your answer on the ANSWER SHEET by blackening the corresponding let-
ter in the brackets. (5 points)

Example:
A number of foreign visitors were taken to the industrial exhibition, which
Al [B] [C]
they saw many new products.
(D]

Part [C] is wrong. The sentence should read, “A number of foreign visitors
were taken to the industrial exhibition where they saw many new products.” So
you should choose [C].

Sample Answer

[Al[B][@][D]

11. Gold or silver bullion serve into commerce as mediums of exchange all over
[A] [B] [C] (D]

the world.

12. New born infants show a distinct preference for human voices over other
[A] [B] [C]
sounds and also prefer her own mother’s voice to the voices of strangers.
(D]
13. The Canadian province of British Columbia is rich of minerals and, because over
[A]
50% of the land is covered with forests, lumbering is its major industry.
(B] [C] (D]
14. According to some analysts, whatever its merits, the proposal to tax away
[A] [(B]

all capital gains on short-term investments would, if acted, have a disastrous

[c]

effect on Wall Street trading and employment.
(D]



15. The black leopard is very dark that its spots are difficult to see.
(Al [B] (C1 [p]
16. The ordinance is intended to force householders to separate such hazardous
[A] [B]
waste like pesticides, batteries and fertilizers from the general stream of
[cl [D]
household trash.
17. Although discovered the X-ray in 1895, Professor Roentgen died poor and
(A] [B]
neglected without any honors in his lifetime.
[C] [D]
18. Except for turkey at Thanksgiving, no single dish has gained wide enough
[A] (B]
popularity in the U.S. to become a symbolic for the country as a whole.
[C] [D]
19. The Fair Labor Standards Act, signed by President Roosevelt in 1938,
[A]
providing for a minimum wage and a 40-hour work week.
(Bl [c] [D]
20. The postwar decade marked by the advent of television, as the twenties
[A] (B]
were by that of radio.
(cl [o]
Section C
Directions:

Beneath each of the following sentences, there are four choices marked

[A], [B], [C] and [D]. Choose the one that best completes the sentence .
Mark your answer on the ANSWER SHEET by blackening the corresponding
letter in the brackets, (10 points)

Example;
The lost car of the Lees was found in the woods off the highway.
[ Alvanished [Blscattered
[C)abandoned [D]rejected

4



The sentence should read, “The lost car of the Lees was found abandoned in

the woods off the highway. " Therefore, you should choose [C].

21.

22.

23.

24,

25.

26.

27.

28.

Sample Answer

(A][B][@][D]

Bachelor-level degrees are ____ on the basis of four years' work while
diploma courses, more specialized and professionally oriented, are designed to

train teachers or social workers.

[A] conferred {B] rewarded [C] aliowed [D] agreed
Although apparently rigid, bones exhibit a degree of that enables the
skeleton to withstand considerable impact.

[A] flexibility [B] elasticity

[C] adaptability [D] acceptability

Having managed to round up a half-million dollars in corporate funds to fi-

nance the festivities, the formidable organizers of these events no ob-

vious opportunity to extract more loose change from guests.

[A] passed on [B] passed out

[C] passed off [D] passed up

The Tennessee Valley Authority was chartered by the United States
Congress in 1933 to Tennessee River and its
[A] supportive [(B] tributary {C] successive [D] trivial

streams.

advances in meteorological knowledge and in the forcast and warning

system, the tornado death rate has been cut in half in recent decades.

[A] With regard to (B] Because

{C] Thanks to (D] In relation to

Besides providing clues to the nature of atoms, mineral analysis allows geolo-
about the ancient Earth.

[A] reflect [B] specul;ite [C] dwell [D] concern
The Canadian province of Newfoundland has a rocky coast, a _____ cli-

gists to

mate, and probably the best cod-fishing areas in the world.
[A] wet [B] damp [C] moist (D] liquid
The annual worth the Utah’s is greater than that of its mining and

5




farming combined.
[A] producing {B] manufacturing
[C] making [D] creating
29. In the early years of the Republic, George Washington proposed the

of a university in the nation’s capital.

[A] foundation [B] settlement
{C] establishment [D] causation
30. In 1920 the presidential candidate Warren Harding the word “nor-

malcy” to express social and economic conditions he promised the nation.
[A] created [B] chose [C] utilized (D] coined

31. Along the east coast of America, American Indian women’s councils could

veto of war by refusing to supply moccasins and field rations.
[A] an announcement [B] a declaration
[C] a decision [D] an exclamation

32. Scientific researches have shown that there is no known society in which left-

handed people .

[A] dominate [B] predominate [C] prevail [D] precede
33. The human body contains more than six hundred muscles which ______ ap-
proximately forty percent of the body weight.
[A] account for [B] give rise to
[C] result in [D] bring about

34. Between the foothills of the Andes and the Pacific Ocean is a dry coastal strip
about 30 miles in width.

[A] measuring [B] stretching [C] extending [D] averaging
35. The main features of the telegraph were developed by two inventors, but it

was Samuel Morse who successfully their ideas.
[A] financed - [B] publicized [C] synthesized  [D] endured
36. Before the advent of fibers, people had to rely entirely on natural
products for making fabrics.
[A] flexible [B] synthetic [cl cautioﬁary [D] comic

37. Surveying is the science of calculating
6
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tween points on the Earth’s surface.
[A] precise [B] obscure [C] categorical [D] entire

38. Although its in April 1981 was beset with delays, the space shuttle
Columbia returned triumphantly two days later from its mission in the Earth’

s orbit.
[A] staff [B] funding [C] rescue [D] takeoff
39. The microscope enables scientists to an incredible number and variety
of bacteria.
[A] rocognize [B] distinguish [C] disguise [D] realize

40. To survive in the intense trade competition between countries, we must

the qualities and varieties of products we make to the world-market

demand.
[A] improve [B] enhance [C] guarantee [D] gear
Part I Cloze Test
Directions:

For each numbered blank in the following passage, there are four choices
marked [A), [B], [C] and [D]. Choose the best one and mark your answer
on the ANSWER SHEET by blackening the corresponding letter in the brackets .
(10 points)

As recruits and lackland air Force Base in San Antonio, we has a (an) _ 41
__ called “dorm guard”. A recruit was required to stand a one-hour _42 at
the door of his dorm, allowing only authorized _43  to enter and warning the
unit of the presence of an officer by calling everyone __44  attention.

A colonel had been in the dorm for several minutes __45 we heard “the
guard call, “Attention!” Everyone moved quickly to rigid attention __ 46 the
oncoming officer. In walked a lieutenant. Our drill instructor, realizing that the
__47 _ guard had called a colonel to attention for a (an) __48 officer, ran over

to the guard and yelled, “You have a colonel 49 for a lieutenant! What are

7



you going to do about this?”

In his most __ 50 _ voice, the recruit shouted out, “Colonel, at ease!”

41.[Alrequirement  [Blpractice [Clduty [Dljob
42.[ Alshift [Blduty {C]attention {D]guard
43.[ A)person [B]soldiers [ Clfaculty [ D]personnel
44.[Alfor [Blat [Clto [Dlpaying
45.[A]when [Blby [Clafter [D]as soon as
46. [ AJwaiting [ Blawaiting [C]watching [DJto wait
47. [ Alpetty [BJunwitting

[ Clunconscious {D]absent-minded
48. [ Alsuperior [Blauthorized [Clunauthorized  [D]linferior
49.[Alto stand [Blstand [C]standing [DIstood
50.[ Ahigh [ B].regrettable [Clcommanding  [D]humble

Part [l Reading Comprehension

Directions :

Each of the passages is followed by some questions. For each question there
are four answers marked [A), [B], [C) and [ D). Read the passages care-
fully and choose the best answer to each of the question. Then mark your answer
on the ANSWER SHEET by blackening the corresponding letter in the brackets .
(40 points)

Passage 1

Alleged underworld leader “Joey Boy” Galatro and three bodyguards were
gunned down Thursday by unknown assailants after a brief gunbattie.

Galatro and two of the bodyguards died instantly in a hail of bullets, while
the third bodyguard remains in critical condition at Margaret Haig Hospital with
multiple gunshots wounds .

One eyewitness told police the three or four triggermen were dressed in over-

8



alls and hard hats like contruction laborers. One pulled a submachine gun from
under a canvas wrap and sprayed the four with bullets. The other gunmen report-
edly fired handguns. The fusillade of bullets immediately felled three of the
men, but one of the bodyguards managed to pull his pistol and return the fire be-
fore being shot himself. The gunmen then sprinted to a black automobile and
roared off. The getaway car was found abandoned just off Stegmen Parkway.

Police sources said the 48-year-old Galatro was the leader of an expanding
new crime syndicate challenging established city gangsters for control of protec-
tion rackets and waterfront theft. They theorized organized crime leaders had
put out a contract on Galatro to eliminate their rival and the professional killers
were brought in from outside the state to do the job. Another possible motive
was revenge for last month’s dockyard murder of a suspected gang member bru-
tally beaten to death. Galatro was arrested in connection with the crime, but
released after eyewitnesses failed to identify him.

Two 38 caliber automatics were found at the scene and police said ballistics
tests were being performed to see if either of them were the murder weapons.

Police are now waiting to question the surviving bodyguard when and if he
regains consciousness . )

Galatro had a long police record with his first arrest for pezty larceny coming
when he was 14 years old. He served a total of 17 years in prison on convictions

ranging from illegal possession of weapons to armed robbery and manslaughter .

51. What does the passage talk about? _
[A] A brief gunbattle. {B] Murder.
[C] Revenge. v [D] Investigation of the Police.
52. How can the killers shoot Galatro and his bodyguards down so easily?
[A] They disguised themselves somewhat like construction laborers and shot
them down unexpectedly and quickly.
{B] Galatro and his body guards were not on the alert.
{C] The killers made a desperate effort to gun them down.



[D] Galatro and his body guards were not good at shooting.
53. What did Galatro’s death imply about according to the passage? __
[A] Weaken the rival force.
[B] Elimination of the rival.
[C] Revenge.
[D] For some reasons or purposes, to kill each other among the terrorist
groups is a common thing.
54. Why was he in prison for 17 years? 4—
[A] He was charged with several crimes.
[B] He was convicted by illegal rivals.
[C] He was sentenced to imprisonment for several crimes.

[D] He was accused by several crimes in prison.

Passage 2

Many people who don’t pretend to know much about science go through life
making statements of scientific fact which they have never taken the trouble to
verify. Remarks such as : “Spinach is good for you”; “if you drop a piece of bread
and butter, it always falls butter side down” etc. are accepted at face value, it
being vaguely assumed that such conclusions have been arrived at by experts
whose knowledge in such matters cannot be challenged. Nevertheless, scientists
frequently prove each other wrong as more and more research is carried out and
new theories are put into practice.

In his book, Butter Side Up, Dr Magnus Pyke, the popular scientist and
TV personality, examines some of these generally accepted facts and, in the flu-
ent, coversational style already familiar to us in his radio and TV talks, asks a
number of questions to which he provides some fascinating answers.

According to Dr Pyke, bread and butter does usually fall butter side down
because the butter makes one side of the slice heavier than the other and this af-
fects the way in which it turns when it falls from a height. Spinach, he says,
does not contain any more vitamins than other green vegetables, and so is not
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